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Child Development and Pedagogy

Directions: Answer the following questions by selecting the
correct/most appropriate option.

1.

A conductive classroom environment for learning in

middle classes centres around ................... .

(1) co-operative learning

(2) fear of punishment and embarrassment

(3) competitive ethos

(4) conditioning and reinforcement

How can a teacher help Aman who is struggling with

complex problems develop problem-solving skills ?

(1) Tell him to give up on the problem

(2) Encourage him to brainstorm and generate ideas

(3) Discourage him from experimenting and taking
risk

(4) Provide him with the answers

The underlying principle of ‘understanding-based’

teaching is the belief that :

(1) learners are passive recipients and the teacher
has the ‘right’ knowledge.

(2) learners’ abilities and needs are diverse which
cannnot be catered to without focusing on
standard instructions.

(3) learners can construct knowledge when provided
with a facilitative environment to do so.

(4) learners know little and teaching involves
transmission of facts to students.

Students struggling with ‘dyslexia” can be taught to

read :

(1) by providing higher grade level reading texts.

(2) by encouraging them to study in multiple
distractions.

(3) through use of strict punishment to ensure
corrective reading.

(4) through systemic phonological training.

Sibling relationships :

(1) are similar to relationships with parents and
peers and play an important role in socialization
throughout childhood.

(2) are different than relationships with parents and
peers and play an important role in socialization
throughout childhood.

(3) play an important role only during early
childhood.

(4) do not have much role in socialization.

Read the following statements and choose the

correct option :

Assertion (A) : Considerable variations exist in

developmental rates among children.

Reason (R) : Developmental differences are an

inevitable result to complex interaction of genetic

and experiential variations.

(1) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(2) (A) is true, but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A).

Which principle of development is illustrated in the

following statement ?

“Children who are deprived of a conducive

environment for learning language in their early

years have some difficulty in picking language later

in life.”

(1) Language and
interrelated.

(2) Development of language is totally dependent
on genetics.

(3) Development is disorderly and unpredictable.

(4) There 1is sensitive period of language
development.

cognition are complexly

Which of the following questions promotes critical

and creative thinking in children?

(1) Where does water come from in our city?

(2) Which canbe the best way to save water and why?

(3) How many states and how many capitals are
there in your country ?

(4) What is the name of your country and its
geographical location on the map ?

What does inclusive education entail ?

(1) Segregation and categorisation of students on
the basis of their abilities.

(2) Standard curriculum for all learners.

(3) Provisioning of only vocational education to
learners with special needs.

(4) Flexibility in the curriculum as a result of
recognition of individual differences.



Paper-2: 20" August, 2023

10.

11.

12.

13.

14.

15.

16.

17.

What is the role of evidence in critical thinking ?

(1) Evidence should be accepted without analysis.

(2) Evidence should be evaluated in a logical and
systematic way.

(3) Evidence is irrelevant to critical thinking.

(4) Evidence should be ignored in favour of personal
opinion.

Read the following statements and choose the

correction option :

Assertion (A) : Jean Piaget and Lev Vygotsky differ

in their perspective on the influence of language on

cognitive development in children.

Reason (R) : In discovery learning, teacher provides

opportunities and students derive information for

themselves.

(1) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(2) (A) is true, but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A).

In a progressive classroom, the students :
A. do not ask many questions.

B. ask questions to the teacher.

C. ask questions to each other.

D. ask themselves questions.

Choose the correct option :

(1) Band C (2) Band D

(3) B,Cand D 4 A

Expectations associated with being male or female are

referred to as.............. and these are learned............... .

(1) gender constancy; initially during adolescence

(2) gender roles; throughout childhood and into
adulthood.

(3) gender stereotypes;
childhood.

(4) gender bias; mainly during early childhood.

Which of the following views about intelligence

supports the respectful consideration of diversity

among learners ?

(1) Intelligence is not influenced by genetic factors.

(2) Intelligence is not influenced by environmental
factors.

(3) 1IQ tests are the only measure of intelligence.

(4) Intelligence is multidimensional and can change
over time.

Who among the following critiqued the concept of
‘general’ intelligence and proposed an alternative
theory of intelligence ?

(1) Howard Gardner (2) Jean Piaget

(3) Lev Vygotsky (4) Charles Spearman

Lawrence Kohlberg's theory has been critiqued by
Carol Gilligan for :

(1) not applying quantitative methods of analysis.
(2) ignoring gender differences in moral reasoning.
(3) presenting a stage-theory of moral development.
(4) collecting data by means of real-life situations.

General principles of learning suggest that students

learn better if a teacher :

(1) first discusses what is not known to the student
and then comes to what the student already
knows.

(2) first introduces the concept in its symbolic from
and then moves to its physical form.

only during middle
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(3) first introduces the concept overall and then
moves on the intricacies of it.

(4) first discusses the concepts in terms of logic and
reason and then grants opportunity to verify the
ideas.

A teacher wants to help her students develop
metacognitive skills. Which of the following
strategies would be most effective ?

(1) Encouraging students to reflect on their own
learning and evaluate their progress.

(2) Providing frequent grades and feedback to
motivate students.

(3) Assigning texts to students to memorize and
encouraging them to repeat information from
the textbook.

(4) Providing students with detailed and prescriptive
instructions for all learning tasks.

Read the following statements and choose the

correct option :

Assertion (A) : Teachers should ask students to

identify their own examples and non-examples of

the concept for strengthening the concept.

Reason  (R) Thinking of examples leads to

strengthening of the concept while non-examples

tend to confuse the students.

(1) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(2) (A) is true, but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A).

Read the following statements and choose the

correction option :

Assertion (A) : Teachers should work hard to break

down students’ stereotypes of particulars ethnic

groups.

Reason (R) : A key educational objective is to enable

students to engage in critical self-reflection.

(1) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(2) (A) is true, but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A).

What is the different between mastery goals and

performance goals ?

(1) Mastery goals are focused on improving one’s
own skills and understanding of a task, while
performance goals are focused on achieving a
high grade or receiving external rewards.

(2) Mastery goals are focused on avoiding failure,
while performance goals are focused on gaining
approval and recognition from others.

(3) Mastery goals are focused on gaining approval
from others, while performance goals are
focused on avoiding failure.

(4) Mastery goals are focused on achieving a certain
level of performance for competing with others,
while performance goalsare focused onimproving
one’s own skills and understanding of a task.

Which of the following is an example of intrinsic

motivation ?

(1) Playing a musical instrument for personal
enjoyment.

(2) Completing the project to impress the teacher.
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(3) Studying to avoid being scolded.

(4) Participating in a competition for the prize
money.

According to Piaget, the four qualitatively different

stages:

(1) illustrate that children's minds are miniature
adult minds.

(2) vary vastly across the various cultures in the
world.

(3) are dependent upon the genetic codes of the
children.

(4) represent universal patterns of development of
children.

Lev Vygotsky believed that development:
(1) is an unfolding of genetic programming.
(2) is discontinuous in nature.

(3) results directly from maturation.

(4) results directly from social interaction.

Which of the following is a limitation of Piaget's

theory of cognitive development?

(1) It does not account for individual differences in
cognitive development.

(2) It overemphasizes the role of language in
cognitive development.

(3) It does not account for the role of biological
factors in cognitive development.

(4) Tt does not account for the influence of culture
and social factors on cognitive development.

Read the following statements and choose the

correct option :

Assertion (A) : Every year Lata, a Class VII teacher

invites a female maths professor and a male nurse to

her class to discuss careers in these fields.

Reason (R) : Gender differences are innate and not

acquired through society.

(1) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(2) (A) is true, but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A).

Which of the following statements is correct in the

context of hearing impairment ?

(1) All children with hearing impairment need to
use 'sign language' to communicate.

(2) Hearing impairment can affect a child's ability to
communicate effectively.

(3) Hearing impairment of a child can be reliably
tested by making loud noises near the child.

(4) Hearing impairment is always due to a physical
problem with the ear.

Which of the following set correctly mentions the

characteristics on which students who are gifted

typically differ from other students in the class ?

A. Advanced depth of understanding

B. Fast pace of learning

C. Higher dependence on others for understanding

D. Rapid physical development

Choose the correct option :

(1) Aand C (2) A,Band C

(3) B,Cand D (4) Aand B
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In the context of inclusion, curriculum learning
expectations are the same in ............ , whilein ......... ,
they are different.

(1) modification; accommodation

(2) enrichment; acceleration

(3) acceleration; enrichment

(4) accommodation; modification

According to constructivist theorists, which of the

following statements would not be correct ?

(1) Learners construct knowledge in their social and
cultural context.

(2) Knowledge is subjective.

(3) Learners need to be extrinsically motivated to
ensure effective learning,.

(4) Knowledge is pluralistic and multiple.

Mathematics and Science
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The statement "1 less then or 1 more than a multiple

of 6 are prime number" is an example of :

(1) Theorem (2) Generalisation

(3) Conjecture (4) Axiom

A mathematics teacher posed the following problems

to her students :

A. Simrat pays T 60,000 as rent for three months.
How much will she have to pay for a whole year
if the rent per month remains same ?

B. Cost of three dozen bananas is I 45. Calculate
the number of bananas that can be purchased of
% 12.50.

C. Joey and Jenny are going to school. Joey started
walking before Jenny. When Joey was at the
third block, Jenny was at the first block. If both
are walking with the same speed, then where
would Jenny be if Joey is at the ninth block ?

Which of the following is correct with respect to the

above three questions ?

(1) B and C are daily life problems based on unitary
method.

(2) Only A is based on unitary method.

(3) A and C are daily life problems based on unitary
method.

(4) A and B are daily life problems based on unitary
method.

A teacher in her class discusses various examples
form daily life situations like a railway line crossing
several other lines, a road crossing two or more
roads, alphabets like 'H', 'Z', etc.

Which of the following concept(s) can be introduced
through these examples ?

A. Line segment

B. Transversal

C. Parallel lines

D. Right angles

Choose the correct option :

(1) Only A (2) Band C

(3) Aand D (4) Only B

Which among the following is the most appropriate

way to teach mathematics ?

(1) Find the low performers and make them sit in
the front row of the class.

(2) Find the gaps in learning and address them only.

(3) Teach every student with the same approach.
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(4) Motivate the learners to develop their existing
capabilities.

Which of the following is true for Continuous and

Comprehensive Evaluation (CCE) ?

(1) For CCE, teachers feel that each one of them
has to give some home assignment every day to
assess children's learning.

(2) In CCE, assessment process includes assessment
of previous knowledge, understanding level
process.

(3) CCE is all about converting marks into grades.

(4) In CCE, there is more testing and less teaching.

Which of the following is/are essential features of a

concept map in mathematics ?

A. It represents a conceptual analysis of a concept
using contributory sub-concepts.

B. They are directional, with arrows showing which
concepts are prerequisite for which others.

C. They cannot be used for diagnostic purposes
to identify difficulties in learning a particular
concept.

D. They cannot be used frequently as they are very
time consuming.

Choose the correct option :

(1) Only C (2) Band D

(3) Cand D (4) Aand B

Which of the following is not true about nature of

mathematics ?

(1) Primary concepts in mathematics are abstract in
nature.

(2) Mathematics at school level requires special
aptitude in learners.

(3) Mathematics is based on deductive reasoning,.

(4) Mathematics is much more abstract and
hierarchic than most of the other subjects which
children learn at the same age.

Which of the following statements are appropriate
regarding "Argumentation" in a mathematics
classroom ?

A. It can be understood as a line of reasoning that
intends to show or explain why a mathematical
result is true.

B. It is always helpful in mathematics in the same
manner as in other empirical disciplines.

C. It can also be a part of the heuristic approach in
mathematics education.

D. It is less useful for elementary grade students as
its assessment will be difficult.

Choose the correct option :
(1) Band C (2) Aand C
(3) Aand B (4) Aand D

A conjecture in mathematics is :

(1) a proposition or conclusion that has been
proved.

(2) not important at all as it does not help in
developing mathematical understanding.

(3) important for students of secondary level only.

(4) a proposition or conclusion that is assumed to be
true on a tentative basis without proof.
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Which of the following statements is not correct

with regard to a mathematics textbook ?

(1) A mathematics textbook should have solved
examples only.

(2) Example in a mathematics textbook should be
related to daily life of the students.

(3) A textbook of mathematics should not be very
thick or heavy.

(4) A mathematics textbook should have varied
exercise to give practice to students.

Ifx = /198 x/550 and y = 99 x /363 , then 141 is
X

y
equal to :
(1) 0.03 (2) 0.01
(3) 033 4) 01

If p = (12.34 x 10'%) - (5.67 x 10%), then p is expressed
in standard form as :

(1) 1.1773 x 1010 @) 1.1773 x 10!

(3) 1.773 x 10" (4) 1.773 x 1010

If 313632 = p* x g° = r*, where p, q and r are prime
numbers, then what is the value of (p + g —2r) ?
@7 )8

@) 9 (4) 6

-1
By which number should (—5 be multiplied so
that the product is the reciprocal of (—87 ?
2 Z

16

@ -7
16

16
16
@ -2

P is a point on line AB and PQ is a ray such that
Z QPA = 7x and £ QPB = 5x. Then, the value of

Bx - 10°) is :
1) 110° @) 118°
(3) 140° (@) 102°

S is a point on side PQ of a triangle PQR such that
RS = PS = QS. If £ QPR = 15° then the value of
(2 £PQR - ZPRQ) s :

(1) 60° (2) 50°

(3) 45° 4) 75°

When a shopkeeper sells item A for X 384, then there
is a loss of 20% and when he sells item B for ¥ 400,
then there is profit of 25%. What is the profit/loss
percent, if he sells both items for a total of I 852 ?
(1) Loss, 5% (2) Profit, 6.5%

(3) Loss, 7% (4) Profit, 7.5%

A sum of ¥ 12,000 amounts to ¥ 15,972 at a certain

rate percent per annum in 11
2

years, when the
interest is compounded half-yearly. What will be the
amount of the same sum in same time and with the
same rate, if interest is compounded annually ?

(1) ¥ 15,420 (2) ¥ 15,480

(3) ¥ 15,950 (4) ¥ 14,520

If 532 — 8y — 20x + 2xy = (x + a) (bx + 2y), then the
value of (2 - b) is :
-1

@) -9

29
@1
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If A =x*(1-3y%, B = x (xy*> - 2x) and
C = 3y (y - 4x%), then

A+ B-C=px®+ g2 + ry?

What is the value of 5p + q—1) ?

(1) 10 (2) 12
(3) 18 “) 8
Which of the following are divisible by 2, 3 and 11 ?
(1) 8448 (2) 9812
(3) 9126 (4) 9636
Choose the correct option :
(1) Band D (2) Aand B
(3) Aand D 4) Aand C
The solution of the equation (+D)-(2x+4) - 1 jg
3-5x 23
also the solution of the equation :
1) 3@x+3)=2(x+3)
25@x+1)=3(x+1)
B)3@x+3)=5@x+1)
4 2@2x-3)=3(x+1)
Marks obtained by Sunita in her pre-board
examination are as follows :
Subject Marks
English 72
Hindi 84
Mathematics 96
Science 80
Social Science 68

If a pie chart is constructed for the above data, then
what will be the angle of the sector representing
marks obtained by Sunita in Mathematics ?

(1) 72° (2) 75.6°

(3) 68.4° (4) 64.8°

The volume of a right circular cylinder of length 1.2
metres is 4620 cm® What is the curved surface area
(1) 2200 (2) 2640

[Take n= §j
7

(3) 2860 (4) 1980

If E V and E are respectively the number of faces,

vertices and edges of a triangular prism, then which

of the following statements is true ?

(1) 2F +3V-2E=10 (2)4F+2V-3E=6

(B)2F +4V-3E=28 4) 3F+2V-2E=11

What is the mean of the mode, median and range of

the data given below ?

17,8, 11,13, 9, 14, 10, 11, 16, 23, 15, 7

(1) 12.5 (2) 13

(3) 135 “4) 12

The cost of painting the surface of a solid cuboid of

dimensions 40 cm X 36 cm X x cm at I 20 per 100

cm? is ¥ 1,032. What is the value of x ?

(1) 15 (2) 20

(3) 24 “4) 12

The area of a rectangle whose sides are 176 cm and

56 cm is equal to the area of a circle. What is the

(in cm?) of the cylinder ?

circumference (in cm) of the circle ? (Take n= 2—72]

(1) 352
(3) 440

(2) 39%
(4) 308
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ABCD is a rhombus in which £ ADB = 25°. Then,
the value of (2 £ BAD — £ ABC) is :

(1) 240° (2) 230°

(3) 210° (4) 260°

PQRS is a quadrilateral in which PQ = PS and RQ =
RS. Which of the following statements is true about
this quadrilateral ?

(1) Its diagonals are perpendicular to each other.

(2) Its diagonals are equal.

(3) Each diagonal bisects the angle at each vertex.
(4) Its diagonals bisect each other.

Identify the incorrect statement :

(1) Clayey soil is more fertile as compared to loamy
soil.

(2) Clayey soil is better aerated than loamy soil.

(3) Water retention capacity of clayey soil is better
than that of loamy soil.

(4) The particle size of clayey soil is much smaller
than that of loamy soil.

Which of the following substances are present on

the rubbing surface of a matchbox ?

(1) White phosphorus and glass powder

(2) Glass powder and red phosphorus

(3) Red phosphorus and magnesium

(4) Potassium and white phosphorus

A and B secrete their hormones when they receive

orders from gland C. Which of the following can A,

B and C respectively be ?

(1) Thyroid, Adrenal glands, Pituitary

(2) Pancreas, Adrenal glands, Thyroid

(3) Testes, Ovaries, Thyroid

(4) Pituitary, Pancreas, Thyroid

The image formed by a pinhole camera is real

Which of the following statements offers a suitable

explanation for this fact ?

(1) Light travels in a straight line.

(2) Light diffracts on entering a small opening,.

(3) Light is a form of energy.

(4) Light changes its path when it travels from one
medium to another.

Identify the set comprising plants that produce

bisexual flowers :

(1) Mustard, Rose, Petunia

(2) Cucumber, Papaya, Rose

(3) Corn, Cucumber, Petunia

(4) Corn, Papaya, Mustard

Read the statements given below and choose the

correct option :

Assertion (A): Stomach produces hydrochloric acid

that helps in breakdown of food.

Reason (R): Digestive juices need an acidic medium

to act.

(1) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(2) (A) is true, but (R) is false.

(3) (A) is false, but (R) is true.

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A).
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What does the term 'nitrogen fixation' mean ?

(1) Conversion of ammonia into nitrates by the
bacteria present in soil.

(2) Conversion of nitrogen compounds into gaseous
nitrogen.

(3) Release of nitrogen present in dead organic
matter back into soil.

(4) Conversion of atmospheric nitrogen to a more
usable from for living organism.

Identify the set comprising cold blooded organisms.

(1) Pigeon, Humans, Lizard

(2) Lizard, Parrot, Dolphin

(3) Snake, Frog, Cockroach

(4) Whale, Frog, Earthworm

At which of the following positions does a spring

have the least potential energy ?

(1) The spring is compressed to the minimum and is
lying on the ground.

(2) The spring is neither compressed nor pulled out
and is lying on the ground.

(3) The spring is compressed to the minimum and is
placed at a height.

(4) The spring is pulled out to the maximum and is
placed at a height.

Which of the following pairs of units are used for
measuring the same physical quantity ?

(1) kg m?%s? Ws (2) kg m/s?>, Nm

(3) kg m/s%, Ws (4) kg m%s% J/s

A feather of mass 15 g is dropped from a height. It is
found to fall with a constant velocity. What is the net
force acting on it ?

(1) 147N (2) Zero

(3) 147N (4) 147N

Select the set the correctly matches the type of waste
given in Column A with the approximate time taken
by it to decompose which is given in Column B.

Column-A Column-B
(a) Plastic bottle (i) 2 -5 months
(b) Silk scarf (i) 1-2 weeks
(c) Cotton shirt (iii) 10 — 30 days
(d) Banana peel (iv) 4 years
(e) Paper (v) Several years

Choose the correct option :

(1) a-v, b-iv, c-i, d-ii, e-iii

(2) a-iv, b-v, c-iii, d-i, e-ii

(3) a-iv, b-v, c-ii, d-i, eiii

(4) a-v, b-i, c-ii, d-iii, e-iv

Which of the following statements about the cells of

living organism is/are correct ?

A. All are microscopic and cannot be seen with a
naked eye.

B. All have a cell wall.

C. All have nuclear membrane.

D. All have a cell membrane.

Choose the correct option :

(1) Aand D (2) Only D

(3) Band C (4) Only A
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An ion X3' is obtained from an element X (atomic
mass 27 and atomic number 13). The number of
protons, electrons and neutrons in X3 is respectively:
(1) 10, 13 and 14 (2) 14,13 and 10
(3) 13,13 and 10 (4) 13,10 and 14

Read the following statements and choose the

correct option :

Assertion (A): Electric current is a vector quantity.

Reason (R): Electric current is a quantity having

magnitude as well as direction.

(1) Both (A) and (R) are true, but (R) is not correct
explanation of (A).

(2) (A) is true, but (R) is false.

(3) (A) is false, but (R) is true.

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A).

Densities of four liquids A, B, C and D are given

below :

Liquid A B C D

Density (kg/m®) 785 820 924 1020

Based on this information, identify the correct

statement from the following :

(1) An object that floats in liquid A may or may not
float in liquid B.

(2) An object that floats in liquid C may or may not
float in liquid A.

(3) An object that floats in liquid B surely floats in
liquid A.

(4) An object that floats in liquid C surely floats in
liquid B.

Which of the following cell organelles contain their

own DNA ?

A. Plastids

B. Mitochondria

C. Nucleus

D. Vacuole

Choose the correct option :

(1) Band C (2) Cand D

(3) A,Band C 4) A,Band D

Read the following paragraph and choose the option
with the set of words which would fill the blanks
correctly in the given order.

During fertilisation, the sperm cell from the father
and the egg cell of the mother fuse to form a W
which divides repeatedly to give rise to a ball of
cells. The cells begin to develop into different organs
and tissues. This developing structure called X gets
embedded in the wall of Y. The stage of X in which
all body parts can be identified is called Z.

W, X, Y, Z respectively are :

(1) zygote, embryo, uterus, foetus

(2) zygote, foetus, uterus, embryo

(3) embryo, zygote, fallopian tube, foetus

(4) zygote, foetus, fallopian tube, embryo

Which of the following graphs are straight lines ?

A. Distance — time graph of a body at rest

B. Velocity — time graph of body moving with
uniform acceleration

C. Distance — time graph of body moving with
uniform acceleration

D. Velocity — time graph of a body at rest

Choose the correct option :
(1) A,Band C (2) A,Band D
(3) Cand D (4) Aand B
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80.

81.

82.

83.

84.

85.

86.

Which of the following reactions are not feasible ?
(1) Al + CuSO, (2) PbSO, + Fe
(3) Zn + CaSO, (4) Mg + ZnSO,

Which of the following is not correct in respect of
the activities suggested as part of 'extended learning'
in textbooks ?

(1) These form an important basis of students'
evaluation.

(2) These are an important value-addition to
children's repertoire of knowledge and skills.

(3) Some of these require students to collect
information of various kinds and draw
conclusions on their own.

(4) Some of these enhance children's interaction
with experts, teachers and society at large.

Which of the following is/are ordinarily not implied

in the context of 'Content validity’ of Science

curriculum ?

A. The content is updated.

B. The concepts are accurately represented.

C. The concepts are trivialised for some learners.

Choose the correct option :

(1) Aand B (2) Only B

(3) A,Band C (4) Only A

After teaching the chapter Respiration in Organisms'
in Class VII, a teacher performs the following activity
with her students. They take three test tubes and fill
3/4h of each with water. The test tubes are labelled as
A, B and C. They put a snail in test tube A, a water
plant in test tube B and in C they keep snail and
plant both. the teacher then asks the students which
test tube would have the highest concentration of
CO,. Which process skill is the teacher emphasising
in this case ?
(1) Estimating
(3) Measuring

(2) Predicting

(4) Question raising

Identify the open-ended question from among the

following :

(1) What is cellulose made of ?

(2) Why can humans not digest cellulose ?

(3) What would happen if humans could digest
cellulose ?

(4) Name any five organisms that can digest
cellulose.

Which of the following cannot be considered as a
valid reason for including socio-scientific issues (such
as the GM food) in the school science curricula?

(1) Helpful in cultivating understanding about
nature of science.

(2) Develops argumentation skills.

(3) Develops the capacity to engage in evidence-
based reasoning.

(4) Helpful in appreciating science as a definitive
discipline.

Which of the following is/are about the curricular

practice currently being followed in schools ?

A. Science and Mathematics are being taught
integratedly as 'Science and Technology' in
elementary classes.

B. Physics, Chemistry and Biology are being taught
integratedly as 'Science' in secondary classes.

C. Science and Social Science are being taught
integratedly as 'EVS' in primary classes.

87.

88.

89.

90.
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Choose the correct option :

(1) Aand B (2) Band C

(3) Only C (4) Only B

A group of students is engaged in an activity in

which they are measuring the boiling temperature

of ordinary tap water in a beaker. Which of the

following is not a suitable indicator to assess them

on this task ?

(1) Ensure that the thermometer does not touch the
walls of the beaker.

(2) Pay due attention to the least count of the
thermometer.

(3) Measure the boiling temperature as 100°C.

(4) Use a stand to suspend the thermometer.

Which of the following would be the most suitable

activity to introduce the concept of image formation

in spherical mirrors in Class VII students ?

(1) Students are asked to play with shiny, steel
spoons and observe their images in it.

(2) Students are asked to observe their images at
various positions in a plane mirror.

(3) Students are explained the laws of reflection.

(4) Students are explained the process of drawing
ray diagrams in curved mirrors.

Which of the following is not implied by the

statement 'Good science education is true to the

child, true to life and true to the discipline' ?

(1) Science education should build a link between
the child and his/her environment.

(2) Science education should help the students
acquire the processes of science.

(3) Science education should train the students to
remain disciplined in school.

(4) Science  classroom  practices
developmentally appropriate.
Which of the following can be considered as the

most suitable rationale for team teaching ?

(1) It benefits the students with diverse expertise.
(2) Itis an effective strategy for large sized classes.
(3) It makes the task of assessment easier.

(4) It is helpful in increasing student participation.

should be

Language: English

Directions : Read the extract given below and answer the
questions (Q. Nos. 91 to 96) that followed by selecting the
correct/most appropriate option.

1.

10.

Love came to Flora asking for a flower

That would of flowers be undisputed queen,
The lily and the rose, long, long had been
Rivals for that high honor. Bards of power

Had sung their claims. 'The rose can never tower
Like the pale lily with her Juno mien' —

‘But is the lily lovelier ?' Thus between
Flower-factions rang the strife in Psyche's bower.
'Give me a flower delicious as the rose

And stately as the lily in her pride' —

'But of what colour ?' — 'Rose-red', Love first chose,
Then prayed, No, lily-white — or, both provide;'
And Flora gave the lotus, 'rose-red' dyed,

And 'lily-white', the queenliest flower that blows.
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92.
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94.

95.

96.

Which of the following attributes is not associated
with the lily ?

(1) Stateliness (2) The colour red

(3) The colour pale white (4) Loveliness

Read the following statements and choose the
correct option :

Assertion (A) : The poets did not declare the lily as
the queen of flowers.

Reason (R) : The lily was pale coloured.

(1) (A) is not true, (R) is partially true.

(2) (A) is true, but (R) is not the only reason for it.
(3) Both (A) and (R) are true.

(4) Both (A) and (R) are not true.

Psyche's garden echoed with the sounds of a dispute
between the supporters of :

(1) the lotus and the rose.

(2) Love and bards of power.

(3) all the 3 flowers — rose, lotus and lily.

(4) the lily and the rose.

Identify the rhyme scheme in lines 1 — 4.

(1) aabb (2) abab

(3) abba (4) abcb

Identify the poetic devices in Line 1 and Line 10.

(1) personification, simile (2) anaphora, metaphor
(3) metaphor, simile (4) alliteration, simile
Complete the word analogy :

delicious : inviting : : strife : ?

(1) melody (2) conflict

(3) adventure (4) discussion

Directions : Read the passage given below and answer
the questions (Q. Nos. 97 to 105) that follow by selecting
the correct/most appropriate option.

1.

A majority of people think that their dream job is too
hard to achieve, too competitive and believe that it is
all a matter of luck. All this is true actually, but why
should that stop anyone from trying to get the job
they really want ? A really determined person will
always succeed and, in many ways, will need other
people to give up trying so that he can succeed.
Many job seekers feel limited by the choices they
made at college. They may think that because they
studied marketing, all they can ever do is work in
marketing. All the evidence shows that, in fact,
employers are less interested in acquired knowledge
than the ability to think and learn. It is also very
difficult to predict the needs of society. For example,
if a person chose to study dentistry because there
was a lack of dentists when he was in high school,
that may not be the case when he graduates. The
needs of employers and the economy can change
very quickly, and often unexpectedly.

Of course, if it is a very tough time economically, it
is hard to find employment straight after university,
but it is by no means impossible. It might take several
months longer to find a job after graduating, but
there is work out there. A really key piece of advice
is never to get downhearted by rejection because
there will probably be a lot you can do to achieve
your dream job, whatever it is. You must never give
up. Be prepared to work hard and for long hours
without necessarily climbing up the career ladder.
There is a lot to be said for learning your trade from
the bottom up. At the start, there will probably be

97.

98.

99.

100.

101.

102.

103.

104.

105.
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little money, but it will be worth it in the end. The
best jobs are not supposed to be easy — that is what
makes them challenging. And if you like a challenge,
just keep your head down and go for it.

Read the following sentences :

A. Determined people succeed occasionally.

B. Few people believe that getting their dream job
is a matter of luck.

C. A majority of the people think that dream jobs
are highly competitive.

(1) A and B are incorrect, C is correct.

(2) B and C are incorrect, A is correct.

(3) A and B are correct, C is incorrect.

(4) A and C are incorrect, B is correct.

Why is it not easy to predict the needs of society ?

(1) Employers only seek graduates who are
knowledgeable.

(2) Job seekers don't take appropriate career
decisions.

(3) The needs of the employers and economy are
changing at a fast pace.
(4) Because there is a lack of dentists in the society.

A job seeker who likes challenges should keep his
head down. This means he should .......... R

(1) bow down his head

(2) walk away in anger

(3) avoid troublesome situations

(4) confront challenging situations

What advice does the writer not give employment
seekers in para 3 ?

(1) To be prepared for long hours of work

(2) To be dejected by rejection

(3) To never give up the search for a dream job

(4) To be patient in the search for a job

Identify the underlined words (parts of speech) in
the following sentence :

A majority of people think that their dream job is too
hard to achieve.

(1) adjective, noun (2) noun, adjective

(3) adverb, noun (4) noun, adverb

Job seekers feel limited by the choices they made at
college.

The underlined phrase means :

(1) to feel constrained  (2) to feel dejected

(3) to feel limitless (4) to feel confused

Read the following statement and choose the correct
option :

Assertion (A) : Itis quite easy to get a job immediately
after graduating from a university.

Reason (R) : The economic scenario regarding job
generation is difficult.

(1) Both (A) and (R) are incorrect.

(2) (A) does not justify (R).

(3) (A) is incorrect, but (R) is correct.

(4) Both (A) and (R) are correct.

'Learning the trade from the bottom up' means :
(1) trading places with others.

(2) from the lowest to the highest in hierarchy.
(3) from your colleagues.

(4) inter-departmental learning.

Complete the word analogy.

expectedly : unexpectedly : : rejection : ?

(1) probation (2) eviction

(3) dejection (4) selection
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Direction : Answer the following questions by selecting
the correct/most appropriate option.

106.

107.

108.

109.

110.

111.

112.

Read the following statements and choose the

choose the correct option :

Assertion (A) : Reading and writing skills help in

critical thinking at the primary level.

Reason (R) : Critical thinking is a sub-skill of reading

and writing.

(1) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(3) (A) is false, but (R) is true.

(4) (A) is true, but (R) is false.

Language skills are best learnt :

(1) if the teacher focuses on one skill at a time.

(2) with the help of challenging and mechanical
language drills.

(3) if they are dealt with in an integrated manner.

(4) only through written tests and assignments.

To assess whether students have understood how to

use the narrative skill, a teacher should ask students

to:

(1) circle the verbs and adjectives in the text.

(2) share an incident when they were surprised.

(3) correct the mistakes in the use of describing
words.

(4) read a story and answer comprehension-based
questions.

A teacher of Class VII is facilitating the reading of

books other then the prescribed textbooks. She is

promoting their :

(1) Shared reading

(3) Extensive reading

(2) Intensive reading
(4) Guided reading

The principal asked the language teacher to select the
textbooks and other resources for the new session.
While selecting them, which one of the following is
not relevant ?

(1) Learning needs and languages known to children
(2) Adaptability of the books and resources

(3) Level of the students

(4) Conceptual complexity and density of material

The teacher developed the criteria to monitor the

use of language materials by learners. Which criteria

are most important and helpful in monitoring the

use of material ?

(1) Usability, repetition and production of utterances

(2) Present, prepare and practice the material

(3) Observation, feedback sessions and written
reports

(4) Checklist, assumptions and learning outcomes

A teacher showed a movie with the captions to

learners in Class VI. The movie is based on one of the

chapters in the textbook. The movie with captions

on will encourage :

(1) active viewing and listening.

(2) listening  strategies, active
motivating the students
language material.

(3) the students to watch more such movies.

(4) listening strategies by verbal clues and to
appreciate the actions of actors, and to write a
review.

viewing, and
to use authentic
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Read the following statements and choose the

correct option :

Assertion (A) : A child in his early childhood

stage uses more verbs than nouns and ignores the

grammar rules.

Reason (R) : They lack vocabulary range.

(1) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(2) (A) is true, but (R) is false.

(3) (A) is false, but (R) is true.

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A).

A child share her language classroom experiences
with her mother and says that sometimes we cover
eyes and the teacher asks us to pick an object out of
a bag. Then we have to try to describe it. It's a really
good way to learn.

This comment shows the child's preference of
learning. Identify her preference.

(1) I remember language well when I hear it.

(2) I remember language well when I move.

(3) I remember language well when I copy it.

(4) I remember language well when I see it.

Read the example of what a learner does and choose
the strategy that matches the example.

"If I don't know what something means, Ilook it up."
(1) Using opportunities for practice

(2) Consulting reference materials

(3) Confused state of mind

(4) Focusing on collocations

A diagnostic test is used to assess :

(1) Learners' ability to recognise their own language
mistakes.

(2) learners' ability to summarise the main points in
a text.

(3) and rank learners in order of achievement.

(4) learners' strong and weak points in language.

A proficiency test always assesses :

(1) the language that students have been taught.

(2) the level of language that learners have reached.
(3) the multisensory learning experiences.

(4) the language of daily conversation.

A teacher divided learners into groups, and asked
them to do a quiz about 'elephants' before reading a
story about them. The objective of the teacher is to :
(1) give peer feedback.

(2) generate interest in a topic.

(3) write a text review.

(4) test their memory.

In a language classroom, a student is disturbing the

class. To handle this disruptive student, the teacher

should :

(1) address the diligent students

(2) first talk to the children to offer remedies.

(3) depend on the parents to offer remedies.

(4) report the behaviour of the student to the school
authority.

When students "brainstorm ideas, organise, draft,
edit and revise their work," which skill does this
process reflect ?
(1) Speaking skill
(3) Writing skill

(2) Reading skill
(4) Listening skill
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Option (1) is correct.

Explanation: A conducive class-
room environment for middleclass
learning is centered around coopera-
tive learning. Cooperative learning
encourages students to work collabo-
ratively in groups. It promotes
engagement, social interaction and
problem-solving skills. Other options
as fear-based approaches, competi-
tiveness, and conditioning are less
effective and can hinder positive
learning outcomes.

Co-operative learning's emphasis
on teamwork, critical thinking, and
mutual respect.

It creates an optimal setting for
holistic development and effective
learning.

Option (2) is correct.

Explanation: The teacher can
encourage Aman to brainstorm and
generate ideas which will foster
critical  thinking and creativity.
This method will promote active
engagement and will help Aman
to explore various ways to solve
problems.

Brainstorming promotes resilience
and a growth mindset, as a student
learns through trial and error
While the other options hinder
the development by discouraging
persistence, experimentation, and
independent thinking, respectively.
Guiding a student to think critically
and explore diverse solutions is
needed in cultivating wholesome
problem-solving abilities.

Option (3) is correct.

Explanation: The essence of 'under-
standing-based teaching' lies in the
notion that learners can actively
construct knowledge when given
the right environment. This helps
Learners to construct knowledge
when provided with a facilitative
environment to do so. Instead of
being passive recipients, students
thrive when they engage in a
facilitative setting that encourages
exploration and critical thinking.
The teacher plays a role as a guide,
nurturing this process of knowledge
construction. This stands in contrast
to options (1) and (4), which involve
one-sided knowledge transmission,
and option (2), which overlooks the
depth of individualized instruction.
'Understanding-based teaching'
nurtures proactive learning. It
allows students to delve deeper into

comprehension and problem-solving
abilities.

Option (4) is correct.

Explanation: Dyslexic students can
effectively learn to read through
structured phonological training. It
emphasizes developing phonemic
awareness, sound-letter connections,
and decoding skills. Dyslexia poses
challenges in these areas, and
targeted training can address these
issues. By tailoring instruction
to enhance phonological skills,
educators can empower dyslexic
students to sur-mount reading
hurdles and foster crucial reading
abilities.

Option (2) is correct.

Explanation: Relationships ~ with
peers and siblings are similar in many
ways, but there are some important
differences. First, while children
and adolescents can, at least to some
extent, choose their peers, siblings
come as a given. Second, in sibling
relationships there is competition for
parents' attention and love.

Siblings form a child's first peer group,
and children learn social skills from
interactions with brothers and sisters,
especially in managing conflict.
Hence, Sibling relationships are
different than relationships with
parents and peers and plays a
important role in socialization
throughout childhood.

Option (4) is correct.

Explanation: As stated in Assertion
(A)thattherearesignificant variations
in developmental rates among
children. Reason (R) provides the
correct explanation, attributing these
differences to the complex interplay
of genetic and experiential factors,
where Genetic makeup and life
experiences contribute to the unique
developmental trajectories observed
among children. Concluding, both
statements are accurate, and Reason
(R) clarifies why developmental
variations are present, establishing a
cause-and-effect relationship.
Option (4) is correct

Explanation: “Children who are
deprived of a conducive environ-
ment for learning language in their
early years have some difficulty
in picking language later in life”
illustrates the sensitive period of
language development principle.
This principle states that there is a
critical period in early childhood
during which children are most
receptive to learning language. If
children do not have the opportunity

10.

11.

to learn language during this period,
they may have difficulty learning it
later in life.

Option (2) is correct.

Explanation: Question: Which can
be the best way to save water and
why? promotes critical and creative
thinking because it requires the child
to think about the different ways to
save water and to justify their choice.
The child will need to consider the
different factors involved in water
conservation, such as the availability
of water, the cost of water, and the
environmental impact of water use.
They will also need to think about
the different ways to implement their
chosen solution.

NOTE: We can ask questions which
should be start with 'why', 'how' to
students to think critically in different
directions.

Option (4) is correct

Explanation: Inclusive education
is an approach to education that
ensures that all students, regardless
of their abilities, are able to learn and
participate in the same educational
setting. This means that students
with disabilities are not separated
from their peers in special schools
or classrooms, but instead learn
alongside them in regular classrooms.
To make this possible, inclusive
educationrequiresanumberofthings,
including: Flexible and adaptable
curriculum, well-trained teachers
and supportive environment.
Option (2) is correct.

Explanation: Evidence is essential
to critical thinking. It is the basis on
which we make decisions and form
judgments. Without evidence, we
are left to rely on our own biases
and opinions, which can often be
inaccurate or misleading. When
evaluating evidence, itis important to
be systematic and logical.

Option (1) is correct.

Explanation: Jean Piaget and Lev
Vygotsky certainly have different
perspectives approximately how
language affects children's think-
ing. Piaget thinks that cognitive
development takes place before
language mastering, at the same time
Vygotsky believed thatlangu-age and
social interactions help children grow
mentally. The reason is not the correct
explanation = because  discovery
learning is not the only way that
language can influence cognitive
development. Children can also learn
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13.

14.

15.

language through social interactions,
such as conversations with adults and
peers.

Option (3) is correct.

Explanation: In a progressive class-
room, students are encouraged to
ask questions because it is a way of
learning and understanding. Asking
questions helps students to think
critically, make connections between
different ideas, and become more
engaged in their learning. Students
are encouraged to ask questions to
the teacher, to each other, and to
themselves. Teachers can encourage
students to ask questions by model-
ing, creating a safe space, using
wait time, praising students for
asking questions, and encouraging
students to ask questions to each
other. By encouraging students to ask
questions, teachers can help them to
become better learners and thinkers.
Option (2) is correct.

Explanation: Gender roles are expec-
tations associated with being male or
female.

These roles are learned from a
variety of sources, including parents,
peers, teachers, and the media. They
can be learned during childhood and
adolescence, and they can continue
to be learned and reinforced
through-out adulthood. Gender
roles can have a significant impact on
how people behave and interact with
others. They can also be harmful,

limiting  people's  opportunities
and choices, and leading to
discrimination and  oppression.

We should challenge gender roles
and work towards a more equitable
society where everyone is free to
be themselves, regardless of their
gender.

Option (4) is correct.

Explanation: The view of intelligence
as multidimensional and changing
over time recognizes that there are
many different ways to be intelligent
and that intelligence is not fixed. This
means that all learners, regardless of
their background or abilities, have
the potential to learn and grow. This
view of intelligence is more respectful
of diversity because it does not label
learners as "smart" or "not smart."
Instead, it focuses on helping all
learners reach their full potential. This
can be done by providing different
learning opportunities for different
students, or by helping students to
develop their strengths.

NOTE: Howard Gardner was the
propounder of the 'Multidimensional

Intelligence Theory'".
Option (1) is correct.
Explanation: The person who
criticized the idea of 'general

(common)' intelligence and came up
with a different theory is Howard
Gardner. He proposed the theory
of multiple intelligences. Gardner
argues that intelligence is not just

16.
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one thing; It takes many forms such
as logical thinking, language skills,
creativity, and more. So instead of
one 'cleverness', he believed people
had different strengths in different
areas. Jean Piaget and Lev Vygotsky
are known for their work in child
development, and Charles Spearman
is associated with the concept of a
general (common) intelligence factor.
Option (2) is correct

Explanation: Carol Gilligan criticized
Lawrence Kohlberg's theory of moral
development for ignoring gender
differences in moral reasoning.
According to Gilligan it did not take
into account enough how men and
women can think about behaviour
differently. Carol Gilligan believed
that Lawrence Kohlberg's stages
of moral development focused too
much on the male perspective and
may not be applicable to girls' moral
reasoning.

Option (3) is correct.

Explanation: When it comes to
teaching, a good approach according
to general learning principles is first
introduces the concept overall and
then moves on to the intricacies of it,
which means a teacher should give
students a big picture of the concept
before diving into the details. This
method helps students understand
the overall idea first, building a solid
foundation. Once they get the main
concepts, they can understand the
finer points well.

Option (1) is correct.

Explanation: The most effective
strategy to help students develop
metacognitive skills is to encourage
them to reflect on their own learning
and evaluate their progress. This
strategy helps students to become
aware of their own thinking and
learning processes, and to identify
what they are doing well and where
they need to improve. It also helps
students to develop self-monitoring
skills, so that they can track their own
progress and make adjustments as
needed.

Option (4) is correct.

Explanation: Both (A) and (R) are true
statements. However, (R) is not the
correct explanation of (A). Thinking of
examples does help to strengthen the
concept, but it is not the only reason
why teachers should ask students to
identify their own examples and non-
examples. Non-examples can also be
helpful in strengthening the concept
by helping students to distinguish
between what is an example of the
concept and what is not. For example,
ifateacheris teaching a conceptabout
shapes, they might ask students to
identify examples and non-examples
of triangles. By identifying examples
of triangles, students will learn
what the properties of triangles are.
By identifying non-examples of
triangles, students will learn what

20.
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the properties of triangles are not.
This will help students to strengthen
their understanding of the concept of
triangles.
Therefore, the correct option for
the question is (1) Both (A) and (R)
are true, but (R) is not the correct
explanation of (A).
Option (4) is correct.
Explanation: Critical self-reflection
is the process of examining our own
beliefs and biases, and challenging
them when necessary. Thisis essential
for breaking down stereotypes,
because stereotypes are often based
on unconscious beliefs and biases.
By engaging in critical self-reflection,
we can become more aware of our
own stereotypes and challenge them.
Therefore, teachers should work hard
to break down students' stereotypes
by enabling them to engage in critical
self-reflection. This can be done by
providing opportunities for students
to learn about different cultures and
ethnic groups, and by encouraging
them to think critically about their
own beliefs and biases.
Option (1) is correct.
Explanation: Mastery goals are
focused on improving one's own
skills and understanding of a task.
Students with mastery goals are
motivated to learn and master the
material, even if it means making
mistakes along the way. They are
also more likely to persist in the face
of challenges. Performance goals
are focused on achieving a high
grade or receiving external rewards.
Students with performance goals are
motivated to do wellin comparison to
others, and they may be more likely to
give up or cheat if they are not doing
well.
Option (1) is correct.
Explanation: Intrinsic motivation is
the motivation to do something for
its own sake, without any external
rewards or punishments. Playing
a musical instrument for personal
enjoyment is an example of intrinsic
motivation because the person is
motivated by the pleasure of playing
the instrument, not by any external
rewards, such as praise or money.

Option (4) is correct.

Explanation: Piaget's four stages

of cognitive development are a

universal sequence that all children

go through, regardless of their culture
or environment. The stages are:

e Sensorimotor stage (birth to 2
years): Children learn about the
world through their senses and
motor actions.

o Preoperational stage (2 to 7 years):
Children begin to use language
and symbols to represent the
word.

o Concrete operational stage (7
to 11 years): Children can think
logically about concrete objects
and events.
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e Formal operational stage (11
years and up): Children can think
abstractly and hypothetically.

Option (4) is correct.
Explanation: Vygotsky believed that
cognitive development is a social
process that takes place through
interaction with others. He argued
that children learn by interacting
with more knowledgeable people,
such as parents, teachers, and peers.
This interaction helps children to
develop their cognitive abilities and
to learn new skills. Vygotsky's theory
is based on the idea that learning is
mediated by culture. This means
that children learn through the use
of cultural tools, such as language,
writing, and mathematics. These
tools allow children to think and
communicate in more complex ways.
Option (4) is correct.
Explanation: Piaget's theory of
cognitive development is based on
the idea that children's development
is universal and follows a fixed
sequence. However, this has been
challenged by research that has
shown that children's cognitive
development is influenced by their
culture. For example, children from
different cultures develop different
concepts of time and space. This
suggests that children's cognitive
development is not simply a matter
of maturation, but is also influenced
by the cultural context in which they
are raised.
Option (2) is correct.
Explanation: From Assertion (A), the
teacher to trying to understand to
her student the gender stereotype by
presenting the example as a female
mathematics professor and a male
nurse while,
From Reason (R), This is completely
wrong because Gender roles or
stereotypes are usually initiated by
the society and girl or boy usually
discouraged by the society for
participating the opposite gender
career fields.

Option (2) is correct.

Explanation: Hearing impairment

can make it difficult for children to

hear and understand speech. This
can lead to problems with language
development, as well as difficulty in
following directionsand participating
in class discussions. Children with
hearing impairment may also
have difficulty understanding the
emotions of others, which can make
it difficult to form relationships.
There are a number of things that
can be done to help children with
hearing impairment communicate
effectively. These include using clear
and simple language, facing the child
when speaking, speaking slowly
and deliberately, using gestures and
facial expressions, providing visual
aids, and encouraging children to ask
questions if they do not understand

28.
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something. With the right support,
children with hearing impairment
can learn to communicate effectively
and participate fully in school and
other activities.

Option (4) is correct

Explanation: Gifted students usually
stand out from their classmates in
two main ways: they have a deeper
understanding of things (A), and they
tend to learn faster (B). This means
they can get a handle on complex
ideas quickly and really dive into
subjects. The other options (1, 2, and
3) include characteristics that don't
normally define gifted students, like
relying on others for understanding
(C) or experiencing rapid physical
development (D).

Option (4) is correct.

Explanation: Accommodation and
modification are two terms used in
education to describe changes that
can be made to the curriculum or
teaching methods to make it easier or
possible for students with disabilities
to learn.

Accommodation is a change that
makes it easier for a student to learn.
For example, a student with dyslexia
may be given extra time to complete
tests or allowed to use a computer for
taking notes.

Modification is a change that makes
it possible for a student to learn. For
example, a student with a physical
disability may be given a different
way to access the curriculum, such as
through audio recordings or Braille.
The main difference between
accommodation and modification is
that accommodation makes learning
easier, while modification makes
learning possible.

Option (3) is correct.

Explanation: The constructivist view
of knowledge is a theory of learning
that states that learners construct
knowledge by actively engaging with
the world around them.

This means that learners must
make sense of new information and
experiencesin terms of their own prior
knowledge and understanding. The
social and cultural context in which
learners live plays an important role
in the construction of knowledge, as
learners are constantly interacting
with others and these interactions
shape their understanding of the
world.

Mathematics and Science

31.

Option (3) is correct.

Explanation: Conjecture is the state-

ment or opinion which seems to be

true but yet has not been proved.

Given: Case (1), (6n — 1) are always

prime numbers. Whenn =1,
6x1-1)=6-1=5

5is a prime number.

Similarly, whenn = 2, 3,4,5,7,8,9

prime numbers are obtained.

32.
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But when 7 is 6, the obtained number

is a composite number.

Case (2) (6n + 1) are always prime

numbers. Whenn =1,

6x1+1) =6+1=7

7is a prime number.
Similarly, when n = 2, 3, 5, 6, 7 prime
numbers are obtained.
But when the value of nis 4,8 and 9,
composite numbers are obtained.
By keeping different values of n, we
conclude that sometimes the given
statement is correct and sometimes it
is false.
Option (4) is correct.
Explanation: A and B are daily life
problems based on unitary methods.
In (A), calculation for payment of
house rent is asked which is based on
a unitary method. This is an example
of a daily life problem.
Similarly, in (B), the cost of 3 dozen
bananas is given and it is asked to
calculate the number of bananas
which can be brought in ¥ 45. This
problem is based on the unitary
method. This example is also a daily
life problem.

Option (2) is correct.

Explanation: By giving such

examples, the teacher is trying to

discuss the transversal line and
parallel lines.

o Transversal: It is defined as a line
that passes through two or more
lines in the same plane at two or
more distinct points.

e Parallel lines: The lines which
are in the same plane and do not
intersect each other as far as they
are extended, called parallel lines.

Option (4) is correct.
Explanation: Motivating the learners
is an important aspect of teaching.
It develops self confidence and a
positive outlook for an approach
within learners. They become more
focused and explore new concepts by
using their existing capabilities and
previous knowledge.

Option (2) is correct.

Explanation: CCE follows three

types of assessment - diagnostic,

formative and summative. The
diagnostic assessment is a pre-test
based on previous knowledge of
learners to check their strengths,
weaknesses and knowledge about
the topic. Formative assessment is an
evaluation pattern used by teachers
to find gaps in learning, involvement
of students while teaching-learning
process, to check how much they
have understood the concept and to
find remedial methods of teaching
if requires. Summative assessment
is conducted at the end of the unit
or academic year to check students'
performance,  proficiency  and
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knowledge. It gives feedback on their
overall learning.

Option (4) is correct.

Explanation: A concept map is a
figure which shows the relationship
between concepts and information.
It can use circle, box, oval, flowchart,
tables, venn diagrams etc. to show
how two topics are related. Since, it is
avisual representation of information
students understand this easily.
Option (3) is correct.

Explanation: Mathematics is based
on both inductive and deductive
reasoning. Inductive  reasoning
is a way to find a solution by
combining all information, rules and
relationships related to the topic. In
this method specific observations or
patterns are used to make a general
conclusion. Deductive reasoning is a
method of finding a solution based
on facts, logic and information. In this
approach, generalideas are combined
to derive a specific conclusion. It
enables students to think logically.
In mathematics, we use both types of
reasoning.

Option (4) is correct.

Explanation: Argumentation in a
mathematics classroom is a way of
discussion among students to get
more information about the given
topic. Students have freedom to
inquire about the problem, give their
opinions and justify the solution or
answer. It is more useful for higher
grade students.

Option (4) is correct.

Explanation: ~ Conjecture is a
proposition or conclusion that is
assumed to be true on a tentative basis
without proof. Although it is true for
many cases but not necessarily true
for all cases.

Option (1) is correct.

Explanation: A mathematics
textbook should not have only
solved examples as it hinders the
thinking and reasoning abilities of the
students. Examples in a mathematics
textbook should be related to the
daily life of the students so that they
can understand the concept easily.
A textbook should not be heavy and
thick. A mathematics textbook should
have varied exercises to give practice
to students so that they can learn
and explore how a concept is used
to solve different types of problems.
It develops their critical thinking,
reasoning abilities and problem-
solving skills.

Option (1) is correct.

Explanation: Given,

x = 198 x~/550
and y = Y99 x3/363
Now, x = V198 x+/550

42,

43.

44.

45.

Or, x =14.071 x 23.452
x =329.99
Similarly, y = /99 x3/363
Or, y =4.626 x 7.133
So, y =32.997
According to question,
rr_t 1
x Yy 32999 32997
or, L1 =000303+0.03030
Xy
So, L.1-003333
Xy
1 1 _~o37
The valueof =+ = =0.03.
Xy
Option (2) is correct.
Explanation:
Given, p =(12.34 x 10')

- (5.67 x 10%)
Or, p =10°(123.4-5.67)
Or, p =117.73 x 10°
So, p =1.1773 x 10"
So, pis expressed in standard form as
1.1773 x 101,
Option (1) is correct.
Explanation:
Given,
313632 = p?xg°xrt
To find, (p + g-2r)
Now,
313632 =112x 2°x 3*

According to question,

(p+q-2r) =11+2-2X3

(p+gq-2r) =13-6

(p+qg-2r) =7
Option (2) is correct.
Explanation: Let the number which
should be multiplied be x.
According to question,

-
Or  (4)xx - {-{J

Or, X = (=7)
4x(—4)
7z
16
which

multiplied is z.
16

So, X =

The number should be

Option (1) is correct.
Explanation: Given,

7x 5x

A P B
ZQPA=7x
ZQPB= 5x
Concept: A line always makes an
angle of 180°.

46.
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So, ZQPA + £ZQPB = 180°
7x + 5x = 180°
Or, 12x = 180°
Or, X = 180°
12
So, x =15°

To find, (8x-10°)
Putting value of x in (8x —10°)
= (8 X 15°-10°)
=120°-10°
=110°
So, the value of (8x —10°) is 110°.

Option (1) is correct.
Explanation:
P
L -15°
S
Q R
Given, In APQR,
RS=PS=QS
ZQPR= 15°
Z/PRS= 15°
(Since, PS = RS)
in APRS,

ZQPR + /PRS + /RSP = 180°
(Sum of all the angles in a triangle is

180°.)
Or,
15° + 15° + ZRSP = 180°
Or, /RSP =180°-30°
So, /RSP =150°
Now, In AQRS,
QR =RS (given)
So, ZSQR = ZQRS
ZRSP = ZSQR
+ ZQRS

(Exterior angle of a triangle is equal to
the sum of the opposite two interior

angles)

Or, 150° = 24SQR

Or, /SQR = 150°
2

So, ZSQR =75°

and ZQRS =75°

Again, in A QRS,

ZQRS + ZSQR + ZQSR = 180°

(Sum of all the three angles in a

triangle is 180°)

Or,

75° + 75° + ZQSR=180°

Or, 150°+ ZQSR = 180°

Or, ZQSR =180°-150°

So, ZQSR =30°

To find, value of 2/PQR - Z/PRQ

2/PQR - /PRQ =2 X 75°— 90°

=150°-90°
=60°

The value of (2£PQR - ZPRQ) is 60°.
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47. Option (2) is correct.
Explanation: Given,
Case-1
Selling price of item = X384
Loss% =20%
Cost price =7

Using formula,
cP - SP x 100
100 —1loss%
_384x100
©100-20
38400
T80
= 3480
Case-2

Selling price of item = 2400
Profit % = 25%
Cost price =7
Using formula,

CP — SP x 100

100 + profit%

400x100
100+ 25
40000
125

=3320
Now, Total cost price of both items

= CP1+ CP2

=480 + %320

= 3800
According to question,
Selling price of both items
=3852
Cost price of both items
=3800
Since, selling price is more than the
cost price of both items profit will be
there.

Profit = SP-CP

= 852-800

=352
Using formula,

Profit % = Profit
cpP

= [5—2] x 100
800
=0.065x100
=6.5%
So, The shopkeeper gets profit of
6.5% by selling both items at Z852.
48. Option (2) is correct.
Explanation:
Principal (P) = 312,000
Amount (A) =315,972
Rate =R%

Time = 1% years

jxlOO

Case-I: Compounded half-yearly
So, n=3

2
A =P 1+L
200

R T
15,472 = 120001+ —
200

49.

50.
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3
15972 [1 N R}

12000 200
2
= (1.331) = {1+L}
200
= 1+s -l
200
- R o1
200
= R =20%
Case-II:
A =12000 1+2—O 1+&
100 200
=12000 x 120 x 110
100 100
=315,840
Option (3) is correct.
Explanation:

5x% -8y —20x + 2xy
= (x + a)(bx + 2y)
Or, 5x%-20x -8y + 2xy

= (x + a)(bx + 2y)
Or, 5x(x-4)-2y(4-x)
= (x +a)(bx + 2y)
Or, 5x(x—4) + 2y(x—4)
= (x + a)(bx + 2v)
Or, (x—4)(5x + 2y)
= (x + a)(bx + 2y)
Comparing the similar terms,
a=-4
b =5
Now, putting the value of 4 and b in
expression
(a-b) =(-4-5)

The value of (2 -b) is 9.
Option (4) is correct.

Explanation:

Given, A =x¥(1-39)
B = x(xy*-2x)
C =3y(y-4x%)

A+B-C =px®+gx%>+ ry?
To find: (5p + q—r)
Solution:

A+B-C =px®+gx2>%+ ry?
x%(1-3y?) + x(xy? -
2x) - 3y(y — 4x)

= px? + gxy? + ry?
Or, x2- 3% + 4?2 - 222 - 32 +
1222
= px? + g%y + ry?
Or, 2% —2x% - 3x%% + x%y? + 12x%% -
3y?
= px + g%y + ry?
Or, —x%+ 10x%2-3y?
= px* + g%yt + ry?
Comparing the similar terms to find
value of p,gand r

p =-1
qg =10
r =-3

Putting the value of p, ¢ and r in
expression,

(Gp+g-r) =5x(-1)+10-(-3)
=-5+10+3
=-5+13
=8

So, the value of (5p + g—7)is 8.

51.

52.

53.

Option (3) is correct.

Explanation: Divisibility rule of 2-
When the last digit of the number is
0,2,4,6 and 8, the number is divisible
by 2.

Divisibility rule of 3, When the sum of
all digits in a number is divisible by 3,
the number is divisible by 3.
Divisibility rule of 11, When the
difference of the sum of digits at
odd places and sum of digits at even
placesis either 0 or divisible by 11, the
number is divisible by 11.

8448 and 9636 are divisible by 2,3 and
11 as they follow the divisibility rule.

Option (3) is correct.

Explanation:
(x+D)-(2x+4) _ 1
3-5x 23
or X 1-2x-4 1
¢ 3-5x 23
Or, —x-3 = 1
g 3-5xr 23
Or, 23(-x-3) =3-5x
Or, —23x-69 =3-5x
Or, —23x 4+ 5x =3+ 69
Or, —18x =72
Or, X = ;72
18
So, x =—4

Now, putting the value of x in option
®3)
32x+3) =5(x+1)
6x+9 =5x+5
6X(—4)+9 =5x% (-4) +5
-24+9 =-20+5
-15 =-15
LHS =RHS
So, this option is correct.
Option (3) is correct.
Explanation:
Formula used:
Sector angle
_ value of the component «360°
sum of all the values
of components

Sum of all marks obtained in different
subjects
=72+84+ 96+ 80+ 68
=400
Total angle of a pie diagram
= 360°
Marks obtained in Mathematics
=96
Using formula,
Angle of sector
Marks obtained in

Mathematics
= x 360°
Sum of all marks obtained

in different subjects

= % 3600

400
= 0.24x360°
= 86.4°
Angle of the sector representing
marks obtained by Sunita in
Mathematics is 86.4°.
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54.
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Option (2) is correct.

Explanation:
Given,
Volume of right circular cylinder
= 4620cm3
Height =1.2m
= 1.2 x 100.
(Since, Im = 100 cm)
=120.0
=120 cm
Using formula,
Volume of right circular cylinder
=nrh
14620 = 2212120
7
Or, 2 _ 4620x7
22x120
or, P o 32340
2640
Or, 2 =12.25
Or, r =41225
So, r =3.5cm

Now, curved surface area of right
circular cylinder
= 2nrh

= 2><27—2x345><120

=2x22x0.5x%x120
= 2640
= 2640 cm?
So, the curved surface area of the
right circular cylinder = 2640 cm?®.
Option (1) is correct.
Explanation: In a triangular prism,
Number of faces =5
Number of vertices =6
Number of Edges =9
Putting the value of E V and E in
option (1)
2F +3V-2E =10
2x5+4+3x6-2x9 =10
10 + 18-18 =10
10 =10
Since, LHS = RHS option (1)is correct.
Option (2) is correct.
Explanation: Arranging the data in
ascending order
7,8,9,10,11,11,13,14,15,16,17,23
To find, Mean of median, mode and
range.
Median—Median is the mid value of
the data when it is arranged in either
ascending or descending order.
Here, number of observation (1) = 12
Using formula,
Median for even n

Median
12
th (7 + 1]
= E term + 2
2 2

Or, Median

term

57.

58.

_ 6th term + 7th term

2
Or, Median = 11+13
2
Or, Median = %

So, Median =12

Hence, the median is 12.

Mode—The most repeated value in

the data is mode.

Here, 11 is repeated twice. So, mode

is11.

Range—It is the difference of highest

value and lowest value in a data.
Range =23-7=16

Now, Mean = M
3
Mean = 32
3
Mean =13

Mean of median, mode and range is

13.

Option (1) is correct.

Explanation:

Given, Dimensions of solid cuboid
=40cm X 36 cm

X x cm
The cost of painting is
220 per 100 cm? = %1032
Length of solid cuboid =40 cm
Breadth of solid cuboid = 36 cm
Height of solid cuboid = xcm
Using formula,
Total surface area of the solid cuboid
= 2(Ib + bh+ Ih)

= 2(40 x 36 + 36x + 40x)

= 2(1440 + 76x)

= 2880 + 152x
Now, cost of painting solid cuboid per
100ecm? =320
So, cost of painting solid cuboid per
cm?
20

100

-zl
5

So, cost of painting solid cuboid per
(2880+152x) cm?

= %(2880 +152x)

According to question,
%(2880 +152x) = 1032

Or, 2880 + 152x =1032 x 5
Or, 2880 + 152x = 5160

Or, 152x = 5160 - 2880
Or, 152x = 2280
Or, x = 2280
152
So, x =15

Hence, the value of xis 15 cm.
Option (1) is correct.
Explanation:
Given,

Length of rectangle =176 cm

59.

m

Breadth of rectangle = 56 cm

Formula used:
Area of rectangle = length
X breadth
Area of circle = nr?

Circumference of circle = 2nr
According to question,

Area of rectangle = Area of circle

length x breadth = nr?

176 x 56 = 2252
Or, 2o 176 x 56 x7
22
Or, r? = 3136
Or, r = ~3136
So, r =56
radius of the circle =56 cm.
Now,
circumference of the circle
= 2nr
= 2x % x 56
7
=2X22X8
=352 cm.

So, the circumference of the circle is
352 cm.

Option (3) is correct.
Explanation:
A C
25°
D
Given, ABCD is a rhombus.
ZADB = 25°
To find: 24/BAD - ZABC
Solution:
In arhombus, all sides are equal.
So, AB =BC=CD=AD
Since, AD = AB
ZADB = ZABD = 25°
Now, in AABD,
Z/BAD + ZADB + ZABD = 180°
(angle sum property of triangle)
Or ZBAD +25° +25° =180°
Or, ZBAD = 180°-50°
So, ZBAD =130°
Since, Z/ADB = ZDBC
(Alternate angles)
/DBC = 25°
Next, ZABC = ZADB + «DBC
ZABC =25°+25°
ZABC =50°
Now, Putting the values in given
expression,
(24BAD - ZABC) =2 x 130°-50°
= 260°-50°
=210°

So, the value of (24/BAD - ZABC) is
210°.
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Option (1) is correct.
Explanation:

R
Given, PQ = PSand RQ = RS
Here, adjacent sides of quadrilateral
PQRS are equal. So, quadrilateral
PQRS is a kite.
In a kite, its diagonals
perpendicular to each other.

are

Option (2) is correct.

Explanation: Clayey soil is more
fertile thanloamy soil. Water retention
capacity of clayey soil is better than
that of loamy soil. Since, the particle
size of clayey soil is much smaller
than that of loamy soil the clayey soil
is less aerated than loamy soil.
Option (2) is correct.

Explanation: The rubbing surface of
the matchbox contains glass powder
and red phosphorus. Glass powder
makes the surface rough and gives
rise to friction and heat. Because of
this, red phosphorus gets converted
into white phosphorus. White
phosphorus is volatile in nature and
catches fire.

Option (1) is correct.

Explanation: Pituitary gland is
known as master gland. Thyroid
gland secretes thyroxine hormone
and adrenal gland secretes adrenaline
hormone when they receive order
from pituitary gland.

Option (1) is correct.

Explanation: The image formed by
a pinhole camera is real. It offers a
suitable explanation for the fact that
the light travels in a straight line. This
is known as rectilinear light theory.
If the light doesn't travel in a straight
line, the image can not be real as it
can't be formed on screen.

Option (1) is correct.

Explanation: When both male and
female reproductive organs are
present in the same flower, the flower
is called bisexual flower.

Mustard, Rose and Petunia are
examples of bisexual flowers. On
the other hand, corn, cucumber and
Papaya are examples of unisexual
flowers.

Option (4) is correct.

Explanation: Stomach produces
hydrochloric acid that helps in
breaking down food. It also kills
harmful microorganisms. Digestive
juices need an acidic medium to act.
Hydrochloric acid converts inactive
pepsinogen into active pepsin. Pepsin
is an enzyme which helpsin digestion
of proteins in the stomach.

67.

68.

69.

70.

71.
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Option (4) is correct.

Explanation: Nitrogen fixation means
conversion of atmospheric nitrogen
to a more usable form for living
organisms. It is a biological process
where atmospheric nitrogen gets
converted into ammonia by natural
phenomenon or certain bacteria like
Rhizobium, Azotobacter etc.

Option (3) is correct.

Explanation: Cold-blooded animals:
Animals that can't maintain a constant
body temperature are cold-blooded
animals. They can change their body
temperature with the change in
temperature of the environment.

Examples—Snake, Frog and
Cockroach.
Warm-blooded animals—Animals

that can maintain a constant body
temperature are called warm-
blooded animals.

Examples - Human, Dolphin, Whale
Option (2) is correct.

Explanation: A spring has the least
potential energy when the spring is
neither compressed nor pulled out
and is lying on the ground.

Potential energy of the spring

= lkxz
2

where, k = spring constant

X = compression or exten-

sion of the spring

Potential energy is dependent on
compression and extension of the
spring. When the spring will be
at its natural position i.e. neither
compressed nor extended, the
potential energy will be minimum.
Option (1) is correct.
Explanation: kg m%s?* and Ws are
derived units of work.
kg m?%s? is the derived unit of energy
and work while Nm is the SI unit of
work.
kg m/s? is the derived unit of force
while Ws is the derived unit of work.
kg m?%s? is the derived unit of energy
while Js is the SI unit of angular
momentum.
Option (2) is correct.
Explanation: A feather of mass 15 g is
dropped from a height and is found
to fall with constant velocity. There is
no acceleration.
Formula used - Force =
acceleration
Since, acceleration is zero the net
force acting on the feather is zero.

mass X

72. Option (1) is correct.
Explanation:
Column A Column B
(a) Plasticbottles [(v) Several years
(b) Silk scarf (iv) 4years
(c) Cottonshirt |[(i) 2-5months
(d) Bananapeel [(ii) 1-2weeks
(e) Paper (iii) 10-30days

73. Option (2) is correct.

74.

75.

76.

77.

78.

Explanation: All cells have cell memb-
ranes. All cells are not microscopic.
Some cells like egg cells can be seen
with unaided eyes. Cell walls are
absent in animal cells. Nuclear mem-
brane bound structures are absent in
prokaryotes.
Option (4) is correct.
Explanation: An ion X3* is obtained
from an element X whose atomic
number is 13 and atomic mass 27
respectively.
Atomic number refers to the number
of protons present in the nucleus of
an element.
Number of protons in given element
=13
In an element, number of protons
= number of electrons. An ion X3*
is obtained from the element means
it has donated 3 electrons. So, the
number of electrons = 13 -3 = 10.
Number of neutrons = Atomic mass
—atomic number
Number of neutrons = 27 -13 = 14
So,
number of protons in given ion =13,
number of electrons =10

and number of neutrons = 14.

Option (3) is correct.

Explanation: Electric current is
a vector quantity. This is a false
statement as it doesn't follow the
vector law of addition. So, electric
current is a scalar quantity.

Electric current is a quantity having
magnitude as well as direction. Thisis
a true statement.

So, the assertion is false and the
reason is true.

Option (2) is correct.

Explanation: As density of liquid A is
least, so if an object floats in A, it will
surely float in other three liquids as
their density is more.

Butif an object floats in heavier liquid,
it may or may not float in liquid with
less density.

Option (3) is correct.

Explanation: Plastids, Mitochondria
and Nucleus are cell organelles
containing their own DNA. DNA is
the molecule which carries genetic
information from one generation to
another generation of the organism.
Option (1) is correct.

Explanation: During fertilisation, the
sperm cell from the father and the
egg cell from the mother fuse to form
zygote which divides repeatedly
to give rise to a ball of cells. The
cells begin to develop into different
organs and tissues. This developing
structure is called embryo that gets
embedded in the wall of uterus. The
stage of embryo in which all body
parts can be identified is called foetus.
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Option (4) is correct.
Explanation: Distance-time graph of
abody atrestand velocity-time graph
of abody at rest are straight lines.
Option (3) is correct.
Explanation: Zn + CaSO, — This
reaction is not feasible. Zinc can't
replace Calcium from its salt because
Zincis less reactive than Calcium.
Option (1) is correct.
Explanation: The activities suggested
as part of 'Extended learning' in
textbooks do not form an important
basis of students' evaluation. Activity
based learning helps in improving
concentration in students. Here, they
learn by doing things themselves.
So, it also improves their memory. It
keeps them engaged and motivates
them to explore new things and ideas.
Option (1) is correct.
Explanation: Content must be upto
date and accurate. It must not be
trivialised in any case.
Option (1) is correct.
Explanation: The teacher s
emphasising in estimating skill in this
case. Estimation is a cognitive skill. In
this process skill, data or information
is given. Students have to analyse the
information to derive conclusions. It
requires skills like good observation,
critical and logical thinking.
Option (3) is correct.
Explanation: Those questions which
cannot have a fixed answer or
can't be answered in 'yes' or 'no' are
called open ended questions. Such
questions can be answered in many
ways. Learners can explain, elaborate
and justify their answers by giving
examples.
Option (3) is correct.
Explanation: A valid reason for
including socio-scientific issue (such
as GM food) in the school science
curricula is helpful in cultivating
understanding about the nature
of science. It develops scientific
argumentation. It is also helpful in
appreciating science as a definitive
discipline. But it never develops the
capacity to engage in evidence - based
learning.

Option (2) is correct.

Explanation: According to curricular

practice which is currently being

followed in schools:

(i) Physics, Chemistry and Biology
are being taught integratedly as
'Science'in secondary classes.

(ii) Science and Social science are
being taught integratedly as
'EVS'in primary classes.

Option (3) is correct.

Explanation: The boiling point

of pure water is 100°C. Tap water

consists of impurities and minerals.

So, the boiling point of ordinary tap

water is more than 100° C.

Option (1) is correct.

Explanation: Students are asked to

play with shiny, steel spoons and

observe their images in it. Shiny,

89.

90.

steel spoons are good examples of
spherical mirrors. There are two types
of spherical mirror - Concave mirror
and Convex mirror. The front side
of the shiny, steel spoon is a concave
mirror as it is projected inwards.
The backside of a shiny, steel spoon
is a convex mirror as it is bulged
outwards.

Option (4) is correct.

Explanation:  Science  classroom
practices should be developmentally
appropriate. This is not implied
by the statement " Good science
education is true to the child, true to
life and his/ her environment. The
aim of developmentally appropriate
practice is to focus on every child's
optimal development towards educa-
tional and developmental goals.
Option (1) is correct.

Explanation: The most suitable
rationale for team teaching is it
benefits the students with diverse
expertise. It enables them to learn
team management. Their active
participation leads to development of
interpersonal skills.

Language: English

91.

92.

93.

94.

95.

Option (2) is correct.

Explanation: The poem mentions
that roses are red and delicious,
whereas lilies are white and lovely.
The quality that is not attributed to
Lily is the colour, which is red.
Option (2) is correct.

Explanation: In the context of the
extract, the assertion that poets did
not declare the lily as the queen
of flowers is true, as the passage
mentions that the lily and the rose
were rivals for that high honor, and
the poem's tone is one of competition
rather than declaration. The reason
given, that the lily was pale colored, is
not the only reason for this rivalry, as
the passage also discusses the dispute
between the two flowers based on
their beauty and other attributes,
making the rivalry multifaceted.
Therefore, option (2) is the correct
choice.

Option (4) is correct.

Explanation: There is a contest
between the rose and the lily for
becoming queen of the flowers. Thus,
the garden was echoed by the sound
of their supporters.

Option (3) is correct.

Explanation: The correct rhyming
scheme is “abba”.

Option (1) is correct.

Explanation: The poetic device used
in the first line is personification.
Personification is attributing human
quality to non-living entities.
Example: She sat down at the tired,
overworked desk. And the poetic
device used in the line 10 is simile.
Simile is a figure of speech involving
the comparison of one thing with
another thing of a different kind with
the help of words: like, as, etc., used to

96.
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103.
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make a description more emphatic or
vivid (e.g. as brave as a lion).

Option (2) is correct.

Explanation: The relationship bet-
ween "delicious" and '"inviting" is
that something that is delicious often
attracts or invites people because of
its appealing taste. Similarly, "strife"
often leads to "conflict" because strife
implies disagreements, disputes,
or conflicts among individuals or
groups.

Option (1) is correct.

Explanation: The statement is
incorrect because the passage asserts
that determined people are always
successful, whereas the statement
says they occasionally get success.
The statement “B” is also incorrect
because the passage asserts that
a majority of people think their
dream job is hard to achieve, but
the statement suggests few people
believe the same. The statement “C”
is correct as per the passage.

Option (3) is correct.

Explanation: From the paragraph
2, we can easily understand that the
needs of employer and economy is
changing at fast pace thusitis difficult
to predict the needs of a society.
Option (4) is correct.

Explanation: A job seeker who likes
challenges should keep his head
down. This means he should confront
challenging situations. The passage
suggests that keeping one's head
down and going for it, even when
facing challenging situations, is the
way to succeed.

N

Option (2) is correct.

Explanation: The passage suggests
that a job seeker should not feel
downhearted by rejection. This
statement is just the opposite of the
statement made in option (2). Thus,
the author has not suggested that
the job seekers be dejected by their
rejection.

Option (2) is correct.

Explanation: In the given sentence,
"majority” is the subject of the
given sentence. Hence, it is a noun.
Adjectives describe or modify—that
is, they limit or restrict the meaning
of—nouns and pronouns. They may
name qualities of all kinds: huge,
red, angry, etc. In the given sentence,
the word "hard" gives additional
information about ‘job’. Thus, "hard’
is an adjective.

Option (1) is correct.

Explanation: 'Feel limited' is a
correct and usable phrase in written
English. It is typically used to express
the feeling of being confined by
certain conditions or circumstances.
Hence, the correct answer is to feel
constrained.

Option (3) is correct.

Explanation: As per the passage, the
assertion is incorrect, and the reason
is correct.
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104. Option (2) is correct.

Explanation: Learning to trade from
the bottom up means going from the
lowest level to the highest level.
Option (4) is correct.

Explanation: Analogy is drawing
similarity. Expected and unexpected
are antonyms. Similarly, rejection is
the opposite of selection.

Option (4) is correct.

Explanation: Critical thinking is the
ability to think clearly and rationally,
understanding the logical connection
between ideas. It involves the ability
to analyze information, evaluate
arguments, and make sound judg-
ments.

Reading and writing skills are
essential for critical thinking, but
critical thinking is not a sub-skill of
reading and writing. Reading and
writing skills help us to develop
critical thinking skills by exposing us
to new ideas, helping us to identify
the main ideas of a text, and requiring
us to organize our thoughts and
communicate them clearly.

Option (3) is correct.

Explanation: Immersion is arguably
the most effective way to learn a
language. You should surround
yourself with the language and listen
toitas much as you can. Thus, the best
way tolearn alanguageis tolearnitin
an integrated manner.

Option (2) is correct.

Explanation: A narrative skill is the
ability to tell or comprehend stories
in an organised and engaging way.
It is a complex and important part of
communication, academic success,
and healthy relationships. To assess
a student’s narrative skill, a teacher
will check whether a student is able
to narrate a story or incident or not.
Thus, it can be assessed by asking the
student about the incident when they
were surprised.

Option (3) is correct.

Explanation: Shared reading is an
instructional approach in which
the teacher explicitly models the
strategies and skills of proficient
readers. Guided reading is an
instructional approach that involves
a teacher working with a small group
of students who demonstrate similar
reading behaviours and can all read
similar levels of texts. Intensive
reading involves learners reading
in detail with specific learning aims
and tasks. It can be compared with
extensive reading, which involves
learners reading texts for enjoyment
and to develop general reading skills.
Since the teacher is promoting books
other than prescribed books, she is
promoting extensive reading.

Option (4) is correct.

Explanation: Conceptual complexity
and density of material, is not
relevant to the language teacher
when selecting textbooks and
other resources for the new session.
Conceptual complexity and density
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of material is a factor that is more
relevant to selecting textbooks and
other resources for academic subjects
such as science and mathematics.
Option (3) is correct.

Explanation: The quality of material
can be monitored by observing its
usage and repetition.

Option (2) is correct.

Explanation: The activity of watching
a movie will encourage a student’s
listening  strategy along with
active viewing. It will also increase
the student’s understanding of a
particular language.

Option (1) is correct.

Explanation: It is true that children
in their early childhood stage use
more verbs than nouns and ignore
grammar rules. This is because verbs
are more action-oriented and easier
for young children to understand
and produce. Additionally, children
are still developing their language
skills and have not yet fully mastered
grammar rules.

However, the reason for this is not
simply that children lack a wide
vocabulary range. It is also due to the
fact that children are still learning
about the world around them and
developing their cognitive skills.
Verbs are a good way for children
to communicate their thoughts and
experiences, even if they do not have
alarge vocabulary of nouns.

Option (2) is correct.

Explanation: The correct answer is
I remember language well when I
move.

The child's comment shows that
she enjoys learning by doing. The
activity of covering her eyes and
picking an object out of a bag to
describe it is a kinesthetic learning
activity. Kinesthetic learning is a
type of learning that involves the
use of movement to learn. It is a very
effective way to learn, especially for
young children.

Option (2) is correct.

Explanation: If one doesn’t know
anything about something and looks
for it, one is referring to the reference
material.

Option (4) is correct.

Explanation: A diagnostic test is a
form of pre-assessment that allows
a teacher to determine students'

individual strengths, weaknesses,
knowledge, and skills prior to
instruction.

Option (2) is correct.

Explanation: A proficiency test
is a method used to measure an
individual's abilities and skills in a
domain or subject. It is used to assess
how well someone has learned,
understood, and internalized the
related concepts and principles. For
example, a language proficiency
test may assess a student's skills in
reading, writing, listening, speaking,
or vocabulary.
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Option (2) is correct.

Explanation: Since the teacher asked
students to take a quiz before reading
the story, she probably wants to create
interest among students related to
the topic.

Option (2) is correct.

Explanation: If a student in the
language class is talking and
disrupting the studies of the other
students, the first step a teacher
should take is to talk to the children
and offer remedies. If the situation is
not controlled after this as well, then
only a teacher should approach the
principal and then the parents.
Option (3) is correct.

Explanation: Students need to
brainstorm ideas, organise, draft,
edit, and revise their work, which is
aprocess’ that reflects writing skills.

Language: Hindi
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